[image: image1.png](a) Indicate whether the following statements are true or false by putting a tick in the relevant column of the

table below.
Statement True Faise

‘The time-rate method guarantees employees a set

wage for set hours

The elements of cost are materials, labour and

variances

Overheads are directly associated with the product

being made

“The total of variable costs changes when production

changes

“The table below lists some of the characteristics of financial accounting and management accounting.

(b) Indicate the characteristics for each system by putting a tick in the relevant column of the table below.

Craracter Management

‘The statements of this system are used by the tax
authorities to calculate the amount of tax due on the
proiits of a business

‘The statements of this system are used by investors
to assess profitabiliy

“This system uses techniques that allow a business
to estimate the cost of future production

The statements o this system are usually only made
available to the managers of a business

(SIS







CBT Sample assessment model answers

Basic Costing (BCST)
Sample assessment 2

Task 1 
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Task 2 
[image: image2.png]() Classify the following costs it incurred by element (material, labour or overhead) by putting a tick in
the relevant column of the table below.

Cost Material abour Overhead

Payments mads to reesian
the website

Purchase of boxes for packing
the bouguets

Rent of warehouse where
bouquets are packed

Wages of employees who pack
the bouguets

Wheelies Lid trades as 3 bike hire business.

(b) Classity the following costs incurred by nature (direct or indirect) by putting a tick in the relevant column
of the table below.

Cost

Senvicing of bikes to hire out

Printing of advertising leaflets

Repairs to business premises





Task 3

[image: image3.png](a) Classify the following costs incurred by function (production, administration, selling and distribution or
finance) by putting a tick in the relevant column of the table below.

Cost Production

Leather to produce shoss

Bank overdraftnterest

Transport costs to geliver shoes
to retailers,

Wages of employees progucing
shoes

Wain Road Garage sells petrol and diesel fuel

(b) Classity the following costs by their behaviour (fixed, variable or semi.variable) by putting a tick in the.
relevant column of the table below.

Cost Fixed Variable

Annual insurance of garage

premises

Electricity o power he fusl pumps
consisting of a sst monthly charge
and then a charge based on usage

Furchase of petrol and diese fus

Salary of garage manager





Task 4

[image: image4.png]You are required to classify the revenue and expense transactions shown in the transaction column of the.
table below using the code column for your answers.

ProfitCostcentre  Costcode  Sub-classification  Sub-code Transaction Code

saes w0 [saesorgastres | 100
Saes ofelecrifies | 600

Producon 50 |Dreccost 100 fsaescrercrcmes [ soeoo
iectcost w0 f[Pucrasestourer g0

samiisation 250 |oirecteost 100 |[ases ot ssmnistatin 559500
iectcost w0 f[Pimingcestor L sseo

Selingend tuion | 350 |Directcost w00 f[tesesctemplorees | 155100
iectcost w0 fSeriong ofpreducton | 1500





Task 5

[image: image5.png]Code the following transactions for the project, using the table below. Each transaction should have a five:
character code.

Code  Nawreofc
Investments N [Edemal s [ Proectievenuearing | oy
Internal 175 E;T:J::.",:;:.‘sed toset
Revenues RE  |uk 20 || Saares rukpree
Costs co |waterial s || ieespactosetup
Labour s f[Frascoenie ansing
Overheads 200





Task 6

[image: image6.png](a) Identify the type of cost behaviour (fixed, variable or semi.variable) described in each statement by

putting a tick in the relevant column of the table below.

Statement

212,000 units this costis £5,000 and at 2,500 units
itis 26,250

Fixed

Variable  Semi.variable

A14,000 units ths costis £15,000, made up of
fixed charge of £7,000 and a unit cost of £2.

At5,000 units this costis £3 per unit, and at 6,000
units itis £2.50 per unit

below.

Costs

Salaries of ofice staff

(b) Classity the following costs as either fixed or variable by putting a tick in th

e relevant column of the table

Hire of vehicles charged on a mileage basis

Annual charge for safety check on gas heaters





Task 7

[image: image7.png](a) Indicate whether each of the following costs is an overhead or not by putting a tick in the relevant column
of the table below.

Overhead?

Yes

Wiaterisls used in producing the product

Insurance of factory buildings

Salary of the marketing manager

SIS





[image: image8.png](b) Complete the table below to show the unit product cost at the production level of 45,000 units.

Unit Product
Cost
£
Materisls 7.00
Labour 800
Direct Cost 15.00
Overheads 6.00
Total 2100





Task 8

[image: image9.png](a) Reorder the following costs into a manufacturing account format for the year ended 31 December.
You should drag each item to the correct position on the list on the right hand side below.
Note that where costs are not given you will need to determine these in part (b).

Opening inventory of raw materials 28,350
Purchase of raw materials 226425
Closing inventory of raw materials 25,890

DIRECT WATERIALS USED

Direct abour 217,320
DIRECT COST
Wanufacturing overheads 211055

WANUFACTURING COST

Opening inventory of work in progress 27,150

Closing inventory of work in progress 27,665

(COST OF GOODS MANUFACTURED

Opening inventory of inished goods 28235

Closing inventory offinished goods 27,940

(COST OF GOODS S0LD





Task 8 (continued)

[image: image10.png](b) Determine and enter the cost totals below, using your answer to part ) to help you.

DIRECT WATERIALS USED e 25685
DIRECT COST e 2205
MANUFACTURING COST e S5250
COSTS OF GOODS MANUFACTURED £ si7i5
COST OF GOODS S0LD e S04





Task 9

[image: image11.png](a) Identify the valuation method described in the statements below.

avco

Statement FFO

The issue of 800 units is costed

a1£2,700.

The closing inventory s valued
a1£3,000.

“The issue of 600 units s costed
a1£3,000.

You are told the opening inventory of a single raw material n the stores is 800 units at£4.00 per unit,
During the month, 400 units at £5.50 per unit are received and the following wesk 500 units are issued

(b) Identify whether the statements in the table below are true or false by putting a tick
in the relevant colum,





Task 10

[image: image12.png]‘Complete the table below by entering the cost of issue and closing inventory values.

Method pesirar at31Juy (€)
FIFO 1860 5080
uFo 2300 4620
) 2085 4835





Task 11

[image: image13.png](a) Identify the following statements as true or false by putting a tick in the relevant column of the.
table below.

Statement True

During 3 34 hour week the employee produces 810
units and eams a bonus of 28,

During a 32 hour week the employee produces 880
units and eams total wages of £352.

During a 30 hour week the employee produces 730
units and does not eam a bonus,

Benham Ltd pays a time-rate of £12.50 per hour for a 34 hour week.
Any employes working in excess of 34 hours per week is paid an overtime rate of£16.50 per hour

(b) Calculate the basic wage, overtime and gross wage for the week for the two employees in the
table below.

Note: if no overtime is paid you should enter 0 as the overtime for that employee.

Employee  Hoursworked Basicwage £ Gross wage £

A Beia 36 425 33 458

1. Lowe 42 425 132 557





Task 12

[image: image14.png]Identify the following statements about the piecework method as either true or faise by putting a tick in
the relevant column of the table below.

Statement True Faise
An employee is paid 75p per unitand eams £485 for
& production of 620 units v
Piecework wages are avariable costfor a business.
An employee who eams £368 for a producion of
920 units s paid 43p per unit v
Piecework enables a business to know in advance
whatts abour costs will be 4





Task 13

[image: image15.png]Calculate the basic wage, bonus and gross wage for the week for the three employees in the table below.
Note: if no bonus is paid you should enter 0 as the bonus for that employee in the table.

Hours units Basic wage Bonus Gross wage

D worked  produced £ £ £
S Horsey, 36 510 333 3 333
F Lorgat 32 540 20 8 344

P.Vyas 4 700 407 32 430





Task 14

[image: image16.png](a) Complete the formatting of the spreadsheet by selecting column headings from the drop-down lists.
Complete the rows for July, August and Total by inserting figures in the cells.

A s c o e ;
: orse oo © Rl frocco e Rll[oico e Rll]  saesc

2 [oune <s00 sooq 13500 2000 109
s [y 720 om0 o200 o000 o9
o [t w000 om0 7000 20000 w000

5 |Total 20000 27000 47000 50000 3000





[image: image17.png](b) Insert formulas into the table below that would generate the correct figures for cells D2, D3 and D4 of
the spreadsheet.

[
2 |=B2ec2
3 [=Bawc3
e

(€) Select the one appropriate formula from the drop-down list below that would generate the correct
figure for cell DS.

5 |Fsovezos R





Task 15

[image: image18.png]Indicate whether the statements are true or false by putting a tick in the relevant column of the table below.

Columns of data can be reorganised into

Awrkshestis usedto enter data into .





Task 16

 [image: image19.png](a) You are required to:

- enter the above data into the spreadsheet below

- calculate the variance for each item of income and expenditure
- determine whether the variance is adverse or favourable (enter either A or F).

» s c o €
1 [ mcomermgenaures | Buagets sotua £ vatcos | FOS o Faouadl
2 [income 65000 sa000 2000 r
3 |watras 1700 12200 500 A
4 | Laour 12200 11800 00 r
5 | overmsass 15500 16300 00 A

(b) In the table below insert

[
1 Variance £
2 | -cos2
3 | -mac3
4| pecs

the formulas that you used for cells 2,3, 4 and 5 of column D of the spreadsheet.





Task 17

[image: image20.png](a) Using the appropriate button, average the data of column C.

aial =0 |= A
z X Y
B I U - A4 sum Average sort sot
A B c )
- N - Adverse () or
1 |Expenditure £ Budgst£ Variance £ e
2 |material 42,000 2100 F
3 | Lavour 23,600) -850 A
4 | Production overheads 12,700) 550 F
Administration
5 | oenaats 9,400) 600 A
6 [Total 87.700) 300 F

After you have averaged column C, insert into the box below the average that is shown in cell C6,

300

1,200

2,100

87,700





Task 17 (continued)

[image: image21.png](b) In column E, identify significant variances in excess of 4% of budget, entering § for significant or
NS for not significant

A B c ) 3
nature £ oz Adverse () or Significant (8) or

i verance Favourable (F Not Significant (NS}

2 | Waterial 42,000 2100 F s

3 23600 -850 A Ns

4 |Production overheads 12,700 F s

5 |Aomimstation 0200 500) N S

overheads








Note regarding part (b)





Other appropriate formulas will also pick up marks, for example in cell D2, another equally valid answer would be


=SUM(C2,B2)








Note regarding formulas





The suggested answers for (b) show one possible answer for each cell but other valid formulas are accepted.








Note regarding variances





Adverse variances may be entered with or without the minus sign in column D of this task, as candidates are asked to identify whether these variances are adverse or favourable separately in column E.








